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siflefweo / SCIENCE

(501D HDHID RS uifl / Tamil & English Version)

&HTa 2eTa] : 2%2 antl GBI ] [ Qurgg wFHUCUETSET : 75
Time Allowed : 2% Hours ] [ Maximum Marks : 75

Sidleyenrast : (1)  eeangg eflanméaEpd sflurs Fs0 LHaTdl 2 eTeTgT CremLSE e
Fflunisgés Qsrararab. Si&aliLgedea @&anudmriber semms
samarasilliumerfib 2L arqwirs Cgfelsse|w.

2) Beod d@g sSEHBUY @bulamar LLHGWL ETPFHIUSDELD
=i1q5Camg Heush@h LwaL(Bss Couamhib. LLBISEH euaneisnE
Quendled Lwer(HFSe,LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediafely.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : Geeiamgsrer epermy Milajsamens Caremg.

Note : This question paper contains three sections.

19fey - 1/ SECTION - I
(SliCueser : 15) / (Marks : 15)

ooy : () @Uaflefld 2 erer 15 eflamésEnsED el weflsseyLb. 15x1=15

i) @eoruys eHllaed Qer@ssuul@Gerer wTHN ol L &safle
aafb eflwurest elenLamws CoibOsHSS 6r(psaLd.

Note : - (i)  Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.

[ SlsLiys / Turn over
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SupereralDmieT LmrbLfwig Feenlo GlasTanTLgy 6T ?
(Loruem WIHOWL Qe cllbgem,

&0 Tedl ey OTUem wrHmbd Qewiw i BESHET,
GCgmed Glacbadlen LOTLEn) WwrHmbd quﬁmuul‘_l_emu
Hmrewig & Caeeaded DTG Wwrhmibd QE[ULLIL.IIJI_LGU)GLI)
Which of the following is inheritable ?

(an altered gene in sperm,

an altered gene in liver cells,

an altered gene in skin cells,

an altered gene in udder cells.)

&perereupmiat Lipbueny Crmi) DDOTSF| eTg| ?
(sTe&Blwm, Lejer Geopur®), <o GCrr, abfGomedwir)

Which one of the following is not a hereditary disease ?

(Thalassemia, Down’s syndrome, Alzheimer’s disease, Haemophilia)

SEHT(HEUL BILDLIGET GTeimLIenal :
(e_awTiTéé) BFDLSET, QWEE BIOLSET, SOLIL BILUSET, apamearCur® ereaflL
1) & G 5 & GTETEN G )

Spinal nerves are
i i i rain
(Sensory nerves, motor nerves, mixed nerves, innervating the brain)

smeypy 96T, G 25 WIYHP.

(heng, safl, speamamr, Cuflamil) N
During post fertilization, the ovule changes into a/an

(seed, fruit, endosperm, pericarp)




. 1630
omlls 2 aprentlser up@emeTll LWETLGSE wrflssmss APNEHDS.
(Qaul B> upser, Carenyu LD&ET, PET SeLeumil LDsaT, 968 &enLeumii
LIMH&ET)

Carnivorous animals use  teeth to tear flesh.
(incisors, canines, premolars, molars)

LIGhSTeUTTRISae) SreTu(HID ‘o g 2 HUSES QsmfpFTemaseT

oran Si&sLILHSADS.

(enioL_GLrasmedmg fluim, LstsalEh, eranGLmYenTs aene, o ' &(1h)

of green plants are called “factories of food production’.

(Mitochondria, Chloroplasts, Endoplasmic Reticulum, Nucleus)

QUTBHSTSMS sET(HL913.556LD.
(2_u9f yosaDTd, LEME leFe, 2 uqf Frgir, GULGrmeilwib)

Find the odd one out.

(bio-alcohol, green diesel, bio-ethers, petroleum)

9fews Hlevawew + Wfles e s =
(2_eTenilnd SenFae), Snlplod S®IE®, CIFTRIEEH, HMRTSSHID)
Dispersed medium + Dispersion medium =

(True Solution, Colloidal Solution, Suspension, All)

[ lpLiys / Turn over
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10.

11.

128

4

feveuir apl G whpmid Gemguwib GGerrar® B
Curg eSipug ey 2 Langwrss Sl SHng-

(CeucTenar, w@gpaar, Heuliy, Helbd)
When aqueous solution of Silver Nitrate and Sodium Chloride are mixed,

precipitate is immediately formed.

(white, yellow, red, blue)

Sersmped Qe LweTuGEDS
(GuUMTIATBIDL, 6Too@, CHafBbL, HESD 6o @)
is used in making electromagnets.

(Pig iron, Steel, Wrought iron, Nickel steel)

S GLransafar efamaQewd Q5TE&s.

(—OH, —CHO, >C=0, —COOH)
is the functional group of ketones.

(—OH, —CHO, >C=0, —COOH)

2 (GLD.

@I gpall < ereg)

(365.25 X 24 X 60 X 60X 3 X 1
360 X 24 X 60 X 60 X 3 X 108 1)

One light year is equal to

(365.25 X 24 X 60 X 60 X 3 X 10°m, 60 X 60X 3X108m, 1X 24X 60X 60X 3 X 10%m,

360 X 24 X 60 X 60 X 3 X 10%m)

& GOIFLSMETE SL&GLD

0818, 60X60x3X108 15, 1X24X60x60x3x108 15,
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13. ‘G’ _@m GTemT LDQL'JL! :

(6.673 % 1011 Nmzkg—z’ 6.673 x 10~11 Nmzkg—zl 6.673 X 1011 Nm_zkg_z
6,673 %1011 Nm?kg’)

The value of ‘G i8:

(6.673x 1011 Nm?kg ™%, 6.673%10-11 Nm2kg™2, 6.673x1011 Nm~2kg~2,
6.673 % 10~ 11 Nm?kg?)

14. @@ &HHle 10V Nenenpss Goumum(erer @m yerefs@psslaLGu 2 C

Oereil L Heng BETES Qenwiu’ L Geouenew wmgl ?
(651,207,02],2])

How much work is done in moving a charge of 2 C across two points having a potential
difference 10 V ?

(5],207,027,2])

15. &pile umyb WerGearTL Gglen Flengen wrhHlwemnsEn Sme

eraiu(pLD.

(Geuréol_ BU_Lit, DB LT, Hevs wrpd, e wrHH!)

A device that reverses the direction of flow of current through a circuit is called

(Voltmeter, Ammeter, Commutator, Transformer)

[ Hmus / T o
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9fley - II / SECTION -II
(dLQueinger : 40) / (Marks : 40)

@ity : elemaGugid mus eflaméssEnss el weafsse,b. 20x2=4(
Note : Answer any twenty questions.

16. 216 epaF Clsisdr erdambs QupLi@éerme.

Name the sources of somatic stem cells.

17.  mBrwem Wi ereud sars.
(@)  Bre, LMoy & Qaedadl e 2 L g(hellenarn, ojehm_gsen & GLmlerrasde
Cerssliul ® e elaTriLy srudlen s@meled Lgwlud L gmred GmHCge.
i@ sOUYS eerayd QerH@prieny 2 Heurssl sHULYS Qsraranssamar
Qeueui_HerCeren.
Find out who am L

(i)  I'wasborn when the diploid nucleus of the udder cells injected into the cytoplasm
of the enucleated ovum and implanted into the uterus of the surrogate mother.

() I coined the term vaccine and vaccination for protective inoculation.

18. GamglL @ misemer Hirliys.

(i) 2 u9fg Ggmed mILefwed epeid SWmilasLin’ L SHLIYS

&
THITE PS6T (LpSeded LweTLBSSUILL L g).

(i) =2uifi Asrlomru wapulea Qupliu@ib
Qr5sGsrens Crrews Ganmorss LweTuB g
Fill in the blanks : '

Qur'reﬁasﬂu_ldu

() The first vaccine which is produced by Biotechnology was used against

(ii) Biotechnologically synthesized is used to cure Pernicious anaemia
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20.

21.

22,
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wCaflwr Crmuier sifl@dser wWremel?

What are the symptoms of malaria ? _
- il | S

srrGUITT GaurNQgBlarm eratmma erarar ? A5 TEHSMSHW L1 60T &5 (1 LT

QgrLienLwg) ?
What is Corpora quadrigemina ? Name the functions associated with it.
QaTRSSILL_HETeT LSS uefhgl LITShISMmETS GD&ESELD.

Draw the given diagram and label the parts.

2 _GUTIemIDG H(HSSH (A) Q&UmLés sTddHed Hswrs afluissng.

anyesord (R) : Fswrar B el wimen 6 eP QLD
QaieliGuppuiuGegred Anfrsn GopbHs
<lere] Smberr QeueCLDMEDS).

(=1) (A) wODD (R) Grem®Bid ofl. (R) yas) (A) -8 Aers@Ang.

(<) (A) o (R) @ram®ind &f. <permed (R)pems (A) - aﬁ]mé;a;aﬂsbéméﬁ; .

(8) (A) bLEGCW &f; Yema (R) g,eugj

(FF) (A) seum; pemed (R) &,

Assertion (A) In summer, we sweat more.

Reason (R) e The kidneys expel less urine, since much of water is lost in the

form of sweat.

(@) Both (A) and (R) are true and (R) explains (A).

(b)  Both (A) and (R) are true but (R) doesn’t explain (A).

(€)  (A) is true but (R) is false.

(d) (A) is false but (R) is true.

[ Hpliys / Turn over



N

1630

23.

24,

25.

26.

27.

ApBressder Har Ceul G GCHrHOL LULID aUenIHg LTShISn6Ts GIEETNhY

Draw the L.S. of kidney and label the parts.

LITEneeUeTd GLale aUmp el L &b @ué@]@'ﬂ«ﬂ SHalenLIL|seTed Hrendlenad
GINSIGT:S

Menﬁon any four adaptations seen in the Camel so that it can live successfully in deserts.

be G 2 Wflsefler &HCom L e &S M@ 261(H(Heued (PedD 6 et
CummHSTE ?

Why diffusion process is not suitable for transportation in multicellular organisms ?

LDL_(GeSTeniIseT erammmed eremer ? @ yewm( T(HBGIGETL_(HSET H(Hs.

What are Saprophytes ? Give two examples. .

&G QsTESsLILL(HeTer 2am’ L 1pensGerr(), @ieupblen Sl 2 mliLseers
8556 THSGESTHLer QuImsss.

SHEMTL| 2ar_L (penp | ew&GCaranrsr Gourser SEVSWLL LT
L (Hetremtser LIEGOFWLILD GurGarm_Grriiumr
LDL_(5,eHoTEmt 6T anmen CLmilwrigser enan L6 &6

Match the methods of nutrition of special 0réans with suitable examples.

Autotrophs Mycorrhiza Cuscuta
Parasites Chlorophyll Monotropa
Saprophytes Haustoria Hibiscus




28.

29.

30.

31.

32,
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Spdrar 2 aneyd Fhiflallapw) Lilg S peopliLRSS, Sigomen < dmo GF8L s
LOTHMIS.
waeufl - Gmed — sbuealiiyFs — LBHSI.
Study the food chain below, correct it and convert it into a pyramid of energy.

Mulberry — Sparrow — Caterpillar — Kite.

‘apanl_Teer @@ Hee wrhm erflEumn@hssTer aflwurss smsLLbHeug)
ereo ?
Why ‘Hydrogen’ is considered to be the best choice among all the alternative fuel

options ?

bl Qup @uers eueTd eratug @f Gubes eerd. Gsmen IS
maredear CaussmsalL s Causwrs Qupms Flaspellarmd Wam@H b
2 (HEUT&SEITLD. |

Cupsar. sheopl Lgsg, slUrasT SOog SupTaTsT arLiams 2 nd
Oewis. seuprs QHHST Fhlwrear mpdleransd Fmwms.

A non-renewable resource is a natural resource. It can bé replaced by natural process
at a rate equal to or faster than its rate of consumption by humans.

Read this statement and say whether it is correct or incorrect. If it is incorrect give the

correct statement.

2 RiGaT il (& sifle) Beny ereueumm LBG&M@‘LE) u@&u@@gaﬁr’r&;m ?

How will you reuse the waste water in your houses ?

Aarerafuer @uistd eremmred eremer ?

What is called Brownian movement ?

[ Hlys / Turn over
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33. Gamgl L @Lmsmer Hyus :

SOTQUIHET  SeoLLITET r@&&1EET0

S @Tioid o L|ans
P Semiotd HEDE
Fill in the blanks :
Solute Solvent Example
Solid o Smoke
Solid Cork

34, Qaraumd shpseie saumns saTLpg SHSSIS-
@) 2x@ly apedsan Bleop =6l LTSS
(i) ST.P. -6 g amyeildr Guoramt Lipoer 22.4 @& .5
Identify and correct the mistake if any :

@) 2xRMM.=V.D.

(i) The molar volume of gas at STP is 22.4 cmS.

35. Q@ somysdd @anyirémam® wallufer Qsflay 1.0x10~8 M erafled, Sige
pH wdlli ereen ?

The hydroxide ion concentration of a solution is 1.0 x10~8 M. What is the pH of the
solution ? P

36. EpssTamid cleansEneT Tyl pe QUDTE ? sTremTd P
(i) FeSO4+Mg — MgSO, +Fe
(i) ZnSO,4+Cu — CuSO4+Zn
Which of the following reactions does not take place ? State the reaso
() FeSO,+Mg — MgSO, +Fe A
(i) ZnSO4+Cu — CuSO4+Zn
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38.

39.

40,
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L) &t w : .
9 2 Carss somal, UT@TTH NG  Lirsi g ST és
S&L

LWSTUREIDS). ASHETRT &TTaRTEISmaTs FDELD.

To design the body of an aircraft, aluminium alloys are used. Give reasons

CaErOESLILLHETET UL Seng cuamihs LTSHS®ETs @lésa,.
Draw the given diagram and label the parts.

L
]
] < e <« — e

© o)

2 MIFLLESSO : sfws Cefomsafld o drer WeermLLsar g5l ameanTlILS
seenlo CesmanTLenel.

SNTETILD : el Gearliurers Sianelaerer re&L Frensar
LS Heusred ghUBEnS.

QaTHEsLILL(PETeT STyaTd o MALILESFuUSDHEL CUTGILTESTES 2 eTaTST 2
Chemical bonds in organic compounds are covalent in nature.
Covalent bond is formed by the sharing of electrons in the bonding

Assertion :

Reason
atoms.

Does the reason satisfy the assertion ?
ghdrmue - I S LgCsmH Qsriyeniw Hoo Fiyeueisafler Quuwirser EGLp
QasrH&sHLILILHET
Qsm_ndderg B
(ISRO, BARC, NAS ‘
List out the names of the organisa

mission from the following:
(ISRO, BARC, NASA, ESA,

o, <SpaTTED &Fla QuwirseT SiamauCuT® QsTLTbeaTsame.
Qj@JGdrréJasaﬂG'm QuwrgeneTl L lgWwedl(Hs.

A, ESA, WHO, ONGC)

tions which are not associated with Chandrayaan - I

WHO, ONGC)

[@(@L'“_,g; / Turn over
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41. @o sas arsamsd, @Gr dosCaussfd Qunds Qs médeamer.
<fld gaty s@mwLLab, HEDTEm srellwrse|d o drerg). Qeundled s
aursagms HnssesnE <igs s CoamauiuGang ?

Two similar trucks are moving with the same velocity on a road. One of them is loaded
while the other is empty. Which of the two will require a larger force to stop it ?

42. @ WlenellatéE 240 V Wareflwipbluy_ Qemensaiul(ererg). WenCerm Lib
0.65 A erarfled, e eflensflen Hmer wirg) ?
An electric bulb is connected to a 240 V generator. The current is 0.65 A. What is the
power of the bulb ?

43. STHOTHOE LIWLIGTUTL g6 GUFIDLSET WTanal ?

What are the limitations in harnessing wind energy ?

44. UL EHD AB poars@rsE Qe Gu o dter QgmEuwen WlengenL wdHlienuis

SHITGO0TS.

Find the effective resistance between A and B in the given circuit.

20 2Q)
AN\ ZQ VWV ——
A —B
VAV —V VN
1Q 1Q

45. Oeeréler Hper UL SIS6T SenssE SnlN)|S.

Define Power of lens. Give its unit.

46.  AC lenelwpilenws DC WeraflwiphBwims; GTEUEUTT LOTHDHETLD ?

How can an AC generator be converted into a DC generator ?
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47. F=DMI (A) PoUulisd oiger 85 b Gesdr@erraiiudd
SiLmglerer LGeum euaTaRThIGmaTL] 1AM amaswean W
Qewifng).
gnyewid (R) @gi, gafl erfQrrefliderme eHUBHMS!.

(=1) (A) wpmid (R) &, (A) -&@ sfurer elerésd (R).

(<) (A) wpmid (R) &, (A)-6@ (R) sMlwrer eSendsnd ice.

(@) (A) seum (R) &ifl.

(/) (A) LPMD (R) @rewrhid Seum.

Assertion (A) When white light is allowed to pass through a prism, it splits

into seven colours.

Reason (R) This is due to reflection of light.

(a) Both (A) and (R) are correct and (R) explains (A).
(b)
(c) (A) is wrong (R) is correct.

(d) Both (A) and (R) are wrong.

Both (A) and (R) are correct but (R) does not explain (A).

196y - III / SECTION - III

(wdliCuattser : 20) / (Marks : 20)

gelQeuns LUGHUISIBHSIL @b aferm g HIeTE CNQTTESEHES
4x5=20

&Bluy : (i)
enL_weaflésa|L.
GCaeneuwime QL iisafled LILLD aIens.

Note (i)  Answer any four questions by choosing one question from each part.

Draw diagrams wherever necessary.

L@S - 1/PART -1

48, . . :
DM@ smiisse GN5S! feurs 6T Es.

Explain elaborately about Typhoid fever.
[ SwLiys / Turn over
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49.

50.

51.

52.

14

Lm <AemLoe By par_asdoean leTEGS:
Explain the Peripheral Nervous System.

uGs - I /PART - 11

Qmeilslaas ST cQangulen eLoLIEL efeuf &&eLD.

Describe the structure of a dicot seed.

Geé GnHlane LETL S E FamsHenerT edeuf&EHa|LD.

Explain the components of Pond eco-system.

L& - 111/ PART - 11T

apl_Grr Sefleflen Qe LHHSTSL Lwau@&ng. Qeugssd efamensser
gerum(.
4 CH,(NO,); — 12C0,+10 H,0+6N,+0, °
@ () O (@
(@iamfleop C=12, H=1, N=14, 0=16)
(=) @Fswarumigd Gemeumelameublen Guomésaelest craTenlGHand WTg| ?
() eopl Gy Heflafen
(i) e (Heumen GUmL @Joeoéahgjaséh

(<) @@ Curd oplCrr Aallsfalad®mbg HoLseb aury Gurdsafar
craenildans wWng) ?

(@) @m Gurd eaplCrr feflsfeaiar Hleop wrg ?
Nitroglycerine is used as an explosive. The equation for the explosive reaction is :
4 C3H5(NO3)3 = 12CO, +10H,0+6 Ny +O,

@) (8) @ (@ (8
(Atomic mass of C=12, H=1, N=14, O=16)

(a) How many moles does the equation show for
(i) Nitroglycerine
(i) Gas molecules produced ?

(b) How many moles of gas molecules are obtained from 1 mole of nitroglycerine ?
(c) What is the mass of 1 mole of nitroglycerine ? |
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54,
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( i) SAVEDSEEET CTGIMTG) 6TeoTen ? R TOSSIESTL_(H) &(155.

T A& 6 : :
(é’é)?@& & pesFEn Hlenm 54 erefle, SIFE (PO&EM cumULILIT()

(a) What are alkynes ? Give an example.

(b) If the molecular mass of an alkyne is 54, then its molecular formula is

U@&S - IV /PART - IV

(=) A bHmD B eramy @@ QurHLadr o drerar. SpssemL G lerasafe
Qaiellm QuIrBLsErséE @oLCuwurear dame eeaiary Lo T H M LD
LS g ?

@) A -ar fleop @riigliur@d CuUrg.
(i) A wpyd B -&@ Qe G edrar bgmenevay Qi gliur@d Cumpg.
(i) A wHmd B Gremgen Hapud GriiglLrEL QuIT(pg.

(@) ‘g wHmid ‘G’ -&@ Qe Cuwrar GgTLiy wrgl ?

(@) A and B are two objects. What happens to the force between two objects, if :
(i)  the mass of A is doubled. A
(i) the distance between A and B is doubled.

(i) the masses of both A and B are doubled.
(b) What is the relation between ‘g’ and ‘G’ ?

[

) Carens <y qsafld gal arfQprefssaissrar GHSLG LDFLI&ET WTenel ?

(@) Gellwmig ser, cursahisaien Lsseuriyd QUIGSSLILIGLD & GRTETITIq WLITE
ger LweTLHE DG ? '

) Write the sign convention for reflection by spherical mirrors.

®)

Why convex mirrors are ased as rear-view mirrors in vehicles ?

-00o0-



